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Subject Number of questions 

Polity 20 

Modern India 20 

Environment and Ecology 20 

Geography 20 

Economy 20 

Current Affairs 20 

Mental ability 30 

Total number of questions 150 (2 ½ Hrs) 
 
 

1. Indian Polity 

 Constitution of India – Preamble – Salient Features, Citizenship Fundamental 
Rights, Duties, Human Rights Charter Union State & Union Territory 
 

2. Modern India 

 National Renaissance – Early uprising against British rule, INC 
 

3. Environment and Ecology 

 9th Term (III)  

 Unit (6) – Environmental Science  

 Unit (7) – Economic Biology (7.9 – 7.14) 
 10th - Unit (22) – Environmental Management 
 12th  Zoology Unit (5) – Chapter 11, 12, 13 
 12th – Botany - Unit (IX) – Plant Ecology 

 Chapter (6) - Principles of Ecology 

 Chapter (7) – Ecosystem 

 Chapter (8) - Environmental Issues 
 

4. Geography 
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 Social Geography [Population Density & Distribution, Racial, Linguistic 
Groups & Major Tribes]  

 Transport & Communication 
 

5. Economy 

 Nature of Indian Economy - Five Year Plans – Planning Commission & Niti 
Ayog  
 

 

6. Current Affairs 

 September 2019 
 

7. Mental Ability 

 8th Std Life Mathematics 
 10th Std – AP and GP 
 Puzzles  

 

Reference 
 

 Modern India  – 8th, 9th, 10th, 12th Std New School Books, History of Indian  
       Freedom Struggle – G.  Venkatesan, Appolo Materials 
 

 Indian Polity  – Refer 10, 11, 12th New Books, Laxmikanth, Appolo  
       Materials 
 

 Geography  – 9th, 10th,11th, 12th New School books, Appolo Materials 
 

 Economy   – 9th, 10th,11th, 12th New School books 
 

 Mental Ability  – 8th, 10th Std Maths Samacheer old Book 
 

Advantages of Scoring High Marks in Assessment Test 

 Access to Reference Hall to read text books and standard books. 
 Spot tests 
 Special Motivational Sessions 
 Mentorship with Toppers 
 Special classes 

 Mentorship –Under the Personal Guidance of R. Sam Rajesswaran, Director, 
Appolo Study Centre.  
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REFERENCE HALL ACCESS TEST II – 2019 
GROUP I PRELIMINARY 

 
1. Joint Sitting of the Parliament was inspired from which constitution? 

a. Britain   b. Weimar   c. Australian  d. French    
ghuhSkd;wj;jpd; $l;lkh;T ve;j murpayikg;gpypUe;J <h;f;fg;gl;lJ?  
a. gphpl;ld;  b. nta;kh;  c. M];jpNuypah d. gpnuQ;R  
 

2. According to cabinet mission plan, provinces and princely status were allotted 
seats proportional to their population in the ration of? 
a. 1 : 1 Million  b. 1 : 10 Million  c. 1 : 1 Lakh  d. 1 : 10 Lakh     
mikr;ruitj; J}Jf;FO jpl;lj;jpd; gb> khfhzq;fs; kw;Wk; kd;dh; khfhz 
me;j];J vt;tsT kf;fs;njhif tpfpjhr;rhu tpfpjj;jpy; xJf;fg;gl;lJ?  
a. 1 : 1 kpy;ypad;   b. 1 : 10 kpy;ypad; 
c. 1 : 1 yl;rk;   d. 1 : 10 yl;rk;  
 

3. Uttar Pradesh elects _________ Members to the Rajya Sabha  
a. 30  b. 31  c. 32  d. 33  
cj;jpu gpuNjrj;jpy; Njh;e;njLf;fg;gl;l uh[;a rig cWg;gpdh;fspd; vz;zpf;if 
__________. 
a. 30  b. 31  c. 32  d. 33  
 

4. Match the following: 
Government       List  
A. Central     1. Adoption  
B. State government  2. Communication  
C. Concurrent list    3. Police  
 A B C 
a. 3 2 1 
b. 2 1 3 
c. 1 2 3 
d. 2 3 1 
nghUj;Jf: 
 murhq;fk;    gl;bay;  
A. kj;jpa murhq;fk;  1. jj;njLg;G  
B. khepy murhq;fk;  2. jfty; njhlh;G  
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C. nghJg; gl;bay;   3. fhty;  

 A B C 
a. 3 2 1 
b. 2 1 3 
c. 1 2 3 
d. 2 3 1 
 

5. Match the following: 
Article      Borrowed from  

A. Impeachment     1. Weimar constitution    
B. Amendment     2. US constitution  
C. Suspension of Fundamental Rights 3. South African constitution  
D. Appointment of Governor   4. Canadian constitution  
 A B C D 
a. 4 1 2 3  
b. 1 4 2 3 
c. 3 2 1 4 
d. 2 3 1 4 
nghUj;Jf: 
 ruj;J       ngwg;gl;lJ 
A. gjtp ePf;fk;     1. nta;kh; murpayikg;G  

B. murpayikg;G jpUj;jk;   2. mnkhpf;f murpayikg;G  
C. mbg;gil chpikfs; ,ilepWj;jk;  3. njd; mnkhpf;f murpaikg;G  

D. MSeh; epakdk;     4. fdlh murpayikg;G 

 A B C D 
a. 4 1 2 3  
b. 1 4 2 3 
c. 3 2 1 4 
d. 2 3 1 4 
 

6. The resolutions on fundamental rights and national economic policy were passed 
in which of the following sessions of the Indian National congress    
a. Belgaum, 1934   b. Lahore, 1929   
c. Karachi, 1931   d. Fazipur, 1936 
 gpd;tUk; ve;j ,e;jpa Njrpa fhq;fpu]; khehl;by; mbg;gil chpikfs; kw;Wk; 
Njrpag; nghUshjhuf; nfhs;iffspd; kPjhd jPkhdq;fs; epiwNtw;wg;gl;ld. 
a. ngy;fhk;> 1934   b. yh$h; 1929  
c. fuhr;rp> 1931   d. gh]pg;G+h;> 1936 
 

7. „Neel-Darpan‟ by Deen Bandhu Mitra portrays the plight of  
a. Bengali Artisans   b. Indigo planters  
c. Landless labours   d. All of the above    
jPd ge;J kpj;uhtpd; ePY; - jh;gd; _______ d; mtyepiyia rpj;jpfhpf;fpwJ 

a. tq;fhs iftpidQh;fs;  b. ,z;bNfh tptrhapfs;  
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c. epykw;w $ypfs;   d. Nkw;fz;l midj;Jk;  

8. Which Indian mass movement began with the famous „Dandi March‟ of Mahatma 
Gandhi? 
a. Khilafat Movement    b. non-cooperation movement  
c. Civil disobedience movement    d. Quit India movement  
kfhj;kh fhe;jpapd; Gfo;ngw;w jz;b ahj;jpiuAld;" Jtq;fg;gl;l khngUk; Njrpa 
,af;fk; vJ?  
a. fpyhgj; ,af;fk;    b. xj;Jioahik ,af;fk;  
c. rl;lkWg;G ,af;fk;    d. nts;isaNd ntspNaW ,af;fk;  
 

9. Arrange the following events/movements in the correct order of their chronology. 
1. Black act   
2. Civil disobedience movement   
3. Boycott of Simon movement    
4. Quit India Movement 
a. 1-2-3-4  b. 1-3-2-4  c. 2-3-4-1  d. 2-3-4-1 
gpd;tUk; epfo;Tfs; / ,af;fq;fis mtw;wpd; fhyKiwg;gb thpirg;gLj;Jf.  
1. fUg;Gr; rl;lk;  
2. rl;lkWg;G ,a;fk;  
3. irkd; vjph;g;G ,af;fk;  
4. nts;isaNd ntspNaW ,af;fk; 
a. 1-2-3-4  b. 1-3-2-4  c. 2-3-4-1  d. 2-3-4-1 
 

10. Match the following: 
A. Public Meetings act   1. 1904 
B. Explosive substance act   2. 1907 
C. Indian Press act   3. 1908   
D. Official secrets    4. 1910 
 A B C D 
a. 1 3 4 2 
b. 3 2 4 1 
c. 1 2 3 4 
d. 2 3 4 1  
nghUj;Jf:  
A. nghJf; $l;lq;fs; rl;lk;   1. 1904  
B. ntbnghUl;fs; rl;lk;   2. 1907 
C. ,e;jpa gj;jphpf;iffs; rl;lk;  3. 1908  
D. mjpfhug;G+h;t ufrpaq;fs;   4. 1910  
 A B C D 
a. 1 3 4 2 
b. 3 2 4 1 
c. 1 2 3 4 
d. 2 3 4 1  
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11. The World Population day is celebrated on  

a. 10th June   b. 11th June  c. 11th July  d. 10th July  
cyf kf;fs; njhif jpdkhdJ nfhz;lhlg;gLtJ _________. 
a. [pd; 10  b. [Pd; 11  c. [Piy 11  d. [Piy 10 
 

12. In the year 1951, Population Growth rate is called  
a. Year of Great Divide   b. Year of Population explosion 
c. Year of Population   d. Year of Small Divide 
1951-y; kf;fs;njhif tsh;r;rp tpfpjkhdJ miof;fg;gLtJ _____. 
a. ngUk; gphptpid Mz;L   b. kf;fs; njhif ntbg;gpw;fhd Mz;L  

c. kf;fs; njhiff;fhd Mz;L  d. rpwpa gphptpid Mz;L  
 

13. The First Official Census of India was taken in  
a. 1852  b. 1862  c. 1872  d. 1881 
,e;jpahtpy; Kjd; Kjypy; Kiwahd kf;fs; njhif fzf;nfLg;ghdJ elj;jg;gl;l 
mz;L ________. 
a. 1852  b. 1862  c. 1872  d. 1881 
 

14. The Shortest National Highway (NH 47A) covers a distance of _________ 
a. 4kms  b. 6kms  c. 8kms  d. 14kms  
Fiwthd ePsKila Njrpa neQ;rhiyahdJ> (NH47A) ______ J}uj;ijf; 
nfhz;Ls;sJ. 
a. 4 fp.kP  b. 6 fp.kP  c. 8 fp.kP  d. 14 fp.kP  
 

15. _________ is known as the “Textile Capital of Tamil Nadu”  
a. Coimbatore b. Erode  c. Tirupur  d. Karur  
______ MdJ jkpofj;jpd; nerTj; jiyefuk; vd mwpag;gLfpwJ.  
a. Nfhak;Gj;J}h;  b. <NuhL  c. jpUg;G+h;  d. f&h;  

 
16. Consider the Following statements. 

1. National Diary Development Board (NDDB) was formed in 1965.  
2. Operation Flood – (1967) 
3. Anand Milk Union limited (1956) was the base for NDDB  
4. Dr. Verghese kurien – “Milkman of India”,  

Find the Incorrect statement.  
a. 3  b. 1  c. 4  d. 2 
gpd;tUk; $w;Wfisf; fUJf.  
1. Njrpa ghy; gz;iz tsh;r;rpf; fofkhdJ (NDDB) 1965-y; cUthf;fg;gl;lJ.  
2. MgNu~d; nts;sk; jpl;lk; - 1967 
3. Mde;j; $l;LwT ghy; xd;wpakhdJ (1956) NDDB-f;F Mjhukhf mike;jJ 

4. Dr. th;fP]; Fhpad; - ,e;jpahtpd; ghy; gz;izj; njhopypd; rpw;gp  
jtwhd $w;iwf; fz;Lgpb 
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a. 3  b. 1  c. 4  d. 2 
17. Match the following  

A. Apis dorsata    1. African bee 
B. Apis florea   2. Italian bee 
C. Apis mellifera   3. Indian bee 
D. Apis adamsoni   4. Little bee 
     5. Wild bee 
 A B C D  
a. 4 5 3 2 
b. 5 4 2 1 
c. 2 3 4 5  
d. 2 4 3 5 
nghUj;Jf: 
A. Vgp]; lhh;Nrl;lh  1. Mg;gphpf;f NjdP  
B. Vgp]; GNshhpah   2. ,j;jhypa NjdP 
C. Vgp]; nky;yp/nguh  3. ,e;jpa NjdP 

D. Vgp]; Mlk;Nrhdp  4. Fl;bj; NjdP  
     5. fhl;Lj; NjdP  
 A B C D  
a. 4 5 3 2 
b. 5 4 2 1 
c. 2 3 4 5  
d. 2 4 3 5 
 

18. Find the Incorrect pair.  
a. Nitrogen fixation  -  Nostoc 
b. Ammonification  - Fungi 
c. Nitrification   - Nitrosomonas 
d. Denitrification   - Putrefying Bacteria 
jtwhd ,iziaf; fz;Lgpb. 
a. iel;u[d; epiyg;gLj;Jjy; - eh];lhf;  
b. mk;Nkhdpahthjy;  - G+Q;irfs;  

c. iel;Nul;lhjy;   - iel;NuhNrhNkhdh];  

d. iel;Nul; ntspNaw;wk;  - mOf itf;Fk; ghf;Bhpahf;fs;  
 

19. Match the following.  
A. Crocodile Conservation Project  1. 1976 
B. Vulture Recover Plan    2. 2006 
C. Sea turtle Conservation Project  3. 1999 
D. Cheetah Reintroduction Project  4. 2012  
E. India Rhino Vission    5. 2020 
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 A B C D E 
a. 1 2 3 4 5 
b. 1 4 3 2 5  
c. 1 3 2 5 4 
d. 1 3 2 4 5   
 nghUj;Jf: 
A. Kjiyfs; ghJfhg;Gj; jpl;lk;    1. 1976 
B. fOFfs; kPl;G jpl;lk;     2. 2006 
C. fly; Mikfs; ghJfhg;Gj; jpl;lk;    3. 1999 
D. rpWj;ijg; Gypfs; kWtho;Tj; jpl;lk;   4. 2012 
E. ,e;jpaf; fhz;lhkpUf ghJfhg;Gj; jpl;lk;  5. 2020 
 A B C D E 
a. 1 2 3 4 5 
b. 1 4 3 2 5  
c. 1 3 2 5 4 
d. 1 3 2 4 5   
 

20. The term “Bio Diversity” was coined by 
a. Odum.E.P b. Transley  c. Walter.G.Rosen  d. Odum.H.T 
caphpa gy;tifik vDk; nrhy;iy mwpKfg;gLj;jpath;  
a. Xlk; E.P.     b. buhd;];Ny 

c. thy;lh; G. Nuhrd;   d. Xlk; H.T  
 
21. What is the sum of all 3 digit natural numbers, which are divisible by 8? 

a. 61376         b. 63176  c. 67136        d. 61636  
8My; tFgLk; midj;J %d;wpyf;f ,ay; vz;fspd; $Ljy; vJ? 
a. 61376         b. 63176  c. 67136        d. 61636 

 
22. Three numbers are in the ratio 2 : 5 : 7. The first number, the resulting number on 

the subtraction of 7 from the second number and the third number form an 
arithmetic sequence. Then the numbers are 
a. 20, 50, 70  b. -20, -50, -70 c. 28, 70, 98  d. -20, -5, 7 
%d;W vz;fspd; tpfpjk; 2 : 5 : 7 vd;f. Kjyhk; vz;> ,uz;lhk; vz;zpypUe;J 7-
If; fopj;Jg; ngwg;gLk; vz; kw;Wk; %d;whk; vz; Mfpad xU $l;Lj; njhlh; 
thpiria Vw;gLj;jpdhy;> mt;ntz;izf; fhz;. 

 a. 20, 50, 70  b. -20, -50, -70 c. 28, 70, 98  d. -20, -5, 7 
 
23. If – 1 < r < 1, then the sum of infinite number of a geometric series is 

   a.  
 1

1

nr
a

r




     b.  

 1

1

nr
a

r




    c. 

1

a

r
   d. na 

 – 1 < r < 1 vdpy; Kbtpyp tiu ngUf;Fj; njhlhpd; $Ljy;  



 

9 | Page PH: 24339436, 42867555, 9840226187 

 

   a.  
 1

1

nr
a

r




     b.  

 1

1

nr
a

r




    c. 

1

a

r
     d. na 

24. In a playground, there are 43 students in the first row, 38 students in the second 
row, 33 students in the third row. There are 3 students in the last row. How many 
rows are there in the playground? 
a. 3   b. 6   c. 9   d. 12 
xUtpisahl;Lj; jplypy; Kjy; thpirapy; 43 khzth;fSk;> ,uz;lhk; thpirapy; 38 
khzth;fSk;> %d;whtJthpirapy; 33 khzth;fSk;>cs;sdh;.  filrpthpirapy; 3 
khzth;fs; ,Ug;gpd;>me;jtpisahl;Lj; jplypy; vj;jidthpirfs; cs;sd? 
a. 3   b. 6   c. 9   d. 12 

 
25. Which term of the geometric sequence,  

  
4 8

5, 2, , ,...
5 25

.., is 
128

15625
? 

a. 7   b. 8   c. 9   d. 6 
4 8

5, 2, , ,...
5 25

,y;
128

15625
 vd;w ngUf;Fj; njhlh;thpirapy; nfhLf;fg;gl;l cWg;G 

vj;jidahtJ cWg;G vdf; fhz;f.  
a. 7   b. 8   c. 9   d. 6 

 
26. Arrange the following plans in correct chronological order 

1. People‟s Plan   2. Bombay Plan 
3. Jawaharlal Nehru Plan 4. Vishveshwaraya Plan 
a. 1, 2, 3, 4  b. 4, 3, 2, 1  c. 2, 1, 4, 3  d. 3, 1, 2, 4 
gpd;tUk; jpl;lq;fis fhythpirg;gb vOJf 
1. kf;fs; jpl;lk;   2. ghk;Ng jpl;lk; 
3. [t`h;yhy; jpl;lk;  4. tp];Nt];tua;ah jpl;lk; 
a. 1, 2, 3, 4  b. 4, 3, 2, 1  c. 2, 1, 4, 3  d. 3, 1, 2, 4 
 

27. Which is incorrect about the Pradhan Mantri Fasal Bima Yojana? 
a. It is launched on 18 Feb 2016 
b. It covers post harvest loss and yield loss 
c. Premium of only 2% for Kharif crops and 1.5% for rabi crops 
d. Premium for annual commercial and horticultural crops will be 7% 
gpujhd; ke;jphp gry; gPkh Nah[dh njhlh;ghd jtwhd $w;iwf; fhz;f 
a. ,j;jpl;lk; 18 gpg;uthp 2016 md;W njhlq;fg;gl;lJ 
b. ,J mWtilapd;NghJ Vw;gLk; ,og;G kw;Wk; mWtilf;F gpe;ija ,og;igAk; 

<Lnra;fpwJ 
c. fhhpg; gaph;fSf;F 2% kw;Wk; ugp gaph;fSf;F 1.5% gphpkpak; toq;fg;gLfpwJ 
d. tUlhe;jpu tzpf kw;wk; Njhl;lg; gaph;fSf;fhd gphpkpak; 7% MFk; 

 
28. Which is correct about Zamindari system? 

1. It was introduced by Lord Cornwallis in 1793 
2. The share of the government in total rent collection was fixed at 10/11th Portion 
a. only 1 is correct   b. only 2 is correct 
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c. both 1 and 2 is correct  d. Neither 1 nor 2 
 
[kPd;jhhp Kiw gw;wpa $w;Wfspy; rhpahdij Njh;e;njLf;f 
1. ,J 1793y; fhud;thyp]; gpuGthy; mwpKfg;gLj;jg;gl;lJ 
2. nkhj;j thuk; t#ypg;gjpy; murpd; gq;F 10/11 gFjpahf epiyg;gLj;jg;gl;lJ 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. 1 kw;Wk; 2 rhp   d. 1 kw;Wk; 2 jtW 
 

29. Match the following 
Five Year Plan    Model 
A. First Five Year Plan   1. Gadgil Yojana 
B. Third Five Year Plan   2. P.C. Mahalanobis model 
C. Eighth Five Year Plan   3. Rao – manmohan model 
D. Second Five Year Plan  4. Harrod – Domar model 
 A B C D 
a. 3 1 4 2 
b. 1 4 2 3 
c. 1 2 3 4 
d. 4 1 3 2 
nghUj;Jf 
Ie;jhz;L jpl;lq;fs;   khjphp 
A. Kjy; Ie;jhz;L jpl;lk;  1. fhl;fpy; jpl;lk; 
B. %d;whk; Ie;jhz;L jpl;lk;  2. P.C. k`yNdhgp]; khjphp 

C. vl;lhk; Ie;jhz;L jpl;lk;  3. uht; - kd;Nkhfd; khjphp 
D. ,uz;lhk; Ie;jhz;L jpl;lk;  4. `uhl; - Nlhkh; khjphp 

 A B C D 
a. 3 1 4 2 
b. 1 4 2 3 
c. 1 2 3 4 
d. 4 1 3 2 
 

30. Identify the incorrect match 
Five Year Plan    Time Period 
a. Fourth Five Year Plan   1969 – 1974 
b. Sixth Five Year Plan   1979 – 1984 
c. Ninth Five Year Plan   1997 – 2002 
d. Eleventh Five Year Plan  2007 – 2012 
jtwhd ,iziaf; fhz;f 
Ie;jhz;L jpl;lq;fs;   fhyk; 
a. ehd;fhk; Ie;jhz;L jpl;lk;  1969-1974 

b. Mwhk; Ie;jhz;L jpl;lk;  1979-1984 

c. xd;gjhk; Ie;jhz;L jpl;lk;  1997-2002 
d. gjpNdhwhk; Ie;jhz;L jpl;lk; 2007-2012 
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31. Match the following 
Days    Event 
A. 10 September  1. International day of peace 
B. 16 September  2. International day of charity 
C. 21 September  3. World suicide prevention day 
D. 5 September  4. International literacy day 
E. 8 September  5. World Ozone day 
 A B C D E 
a. 2 1 5 3 4 
b. 5 3 2 1 4 
c. 3 5 1 2 4 
d. 1 3 5 4 2 
nghUj;Jf 
jpdk;    epfo;T 
A. nrg;lk;gh; 10  1. rh;tNjr mikjp jpdk; 

B. nrg;lk;gh; 16  2. rh;tNjr nfhil ehs; 

C. nrg;lk;gh; 21  3. cyf jw;nfhiy jLg;G jpdk; 
D. nrg;lk;gh; 5  4. rh;tNjr vOj;jwpT jpdk; 

E. nrg;lk;gh; 8  5. cyf XNrhd; jpdk; 
 A B C D E 
a. 2 1 5 3 4 
b. 5 3 2 1 4 
c. 3 5 1 2 4 
d. 1 3 5 4 2 
 

32. Which temple in Tamilnadu has been adjudged the second best Swachh Iconic 
Place (for cleanliness)? 
a. Meenakshi Sundareswarar, Madurai 
b. Brihadesswarar Temple, Thanjavur 
c. Kailasanathar temple, Kanchipuram 
d. Sri Ranganatha Swamy Temple, Srirangam 
ve;j jkpof Nfhapy; ,uz;lhtJ Rthr; rpd;dkhf (J}a;ikf;fhf) Njh;T 
nra;ag;gl;Ls;sJ? 
a. kPdhl;rp Re;jNu];tuh; Nfhapy;> kJiu 
b. gpufjP];tuh; Nfhapy;> jQ;rht+h; 
c. ifyhrehjh; Nfhapy;> fhQ;rpGuk; 
d. =uq;fehjh; Rthkp Nfhapy;> =uq;fk; 

 
33. Which Indian wicket keeper became the fastest Indian wicket keeper to claim 50 

dismissals in test cricket? 
a. Wriddhiman Saha  b. Rishabh Pant 
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c. Naman Ojha   d. Dinesh Karthik 
 
nl];l; fphpf;nfl; Nghl;bapy; Ntfkhf 50 tpf;nfl;Lfs; vLj;j ,e;jpa tpf;nfl; fPg;gh; 
ahh;? 
a. tpUj;jpkhd; ~h`h  b. hp~g; ge;j; 
c. ekd; X[h   d. jpNd~; fhh;j;jpf; 

 
34. ISRO‟s chandrayaan-2 mission, the lander Vikram has lost its contact on 

a. 9 Septermber  b. 3 September c. 5 September d. 7 September 
,];Nuhtpd; re;jpuhad;-2 kp~dpd; tpf;uk; Nyz;lh; jdJ njhlh;ig ,oe;j ehs; 
_____ 
a. nrg;lk;gh; 9  b. nrg;lk;gh; 3 c. nrg;lk;gh; 5 d. nrg;lk;gh; 7 
 

35. Which Indian cricketer launched a campaign to build awareness about one horned 
Rhinoceros? 
a. Kapil Dev  b. Virat Kohli c. Sourav Ganguly  d. Rohit Sharma 
xU nfhk;G fhz;lhkpUfk; gw;wp tpopg;Gzh;T gpur;rhuk; nra;j ,e;jpa fphpf;nfl; tPuh; 
ahh;? 
a. fgpy;Njt;  b. tpuhl; Nfhyp c. rTut; fq;Fyp  d. Nuh`pj; rh;kh 

 
36. The mind makers of the constitution of India is referred in which of the following? 

a. The Preamble      b. The fundamental rights  
c. The directive principles of state policy d. The fundamental duties  
,e;jpa murapyikg;gpd; kdj; jahhpg;G vd gpd;tUtdtw;Ws; vijf; 
Fwpg;gpLfpwhh;fs;?  
a. Kfg;Giu       b. mbg;gil chpikfs; 

c. muR topfhl;L newpKiw   d. mbg;gilf; flikfs;  
 

37. Consider the following statements about UDHR  
1. UDHR declaration was proclaimed by the united nation general assembly in 

Paris on 10th December, 1948   
2. The resolution is 217A 
3. There are 30 articles in the UDHR 
a. 1 only correct     b. 2, 3 only correct  
c. 1, 3 are correct     d. All are correct  
UDHR Fwpj;j $w;Wfis ftdpf;fTk;  

1. UDHR-d; mwptpg;G 1948> brk;gh; 10-k; Njjp ghhp]py; ele;j If;fpa nghJ 
rigahy; mwptpf;fg;gl;lJ.  
2. mjd; jPh;khdk; 217A 
3. UDHR – y; 30 ruj;Jfs; cs;sd.  

a. 1 kl;Lk; rhp    b. 2, 3 kl;Lk; rhp  
c. Nkw;fz;l midj;Jk; rhp  d. vJTkpy;iy  
 

38. The state of Tamil Nadu provides for ______________ % of reservation  
a. 62%  b. 65%  c. 67%  d. 69% 
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jkpo;ehL khepyk; _________ % ,lxJf;fPl;il toq;fpAs;sJ. 

a. 62%  b. 65%  c. 67%  d. 69% 
39. In the following statements: 

1. Tamil Nadu elects 234 members to the legislative assembly 
2. The Tamil Nadu legislative assembly has a strength of 235 members  
a. 1 only incorrect    b. 2 only incorrect     
c. 1 and 2 are incorrect   d. Neither 1 nor 2 are incorrect  
gpd;tUk; $w;Wfspy; 
1. jkpo;ehL rl;lg; Nguitapy; 234 cWg;gpdh;fis Njh;e;njLf;fpwJ.  
2. jkpo;ehL rl;lg; Nguitapd; nkhj;j cWg;gpdh;fs; 235 MFk;.  
a. 1 kl;Lk; jtW    b. 2 kl;Lk; jtW  
c. 1 kw;Wk; 2 ,uz;Lk; jtW d. 1 my;yJ 2 jtwhdit my;y  

 
40. Which of the following country provides for Dual Citizenship? 

a. USA, Switzerland, Germany   b. India, Russia, China 
c. Kazakhstan, Mongolia, Afghanistan  d. Myanmar, Sri Lanka, Japan    
gpd;tUk; ehLfspy; vJ ,ul;il FbAhpikia toq;FfpwJ.  
a. Av];V> Rrh;yhe;J> n[h;kdp  
b. ,e;jpah> u~;ah> rPdh  

c. f[f];jhd;> kq;Nfhypah> Mg;fhdp];jhd;  
d. kpahd;kh;> ,yq;if> [g;ghd;  

 
41. Match the following: 

A. National council of education   1. November 1905 
B. Bengal National College and schools     2. August 1906 
C. Calcutta session     3. December 1906 
 A B C 
a. 1 3 2 
b. 3 2 1 
c. 1 2 3 
d. 2 3 1 
nghUj;Jf: 
A. fy;tpf;fhd Njrpa kd;wk;    1. etk;gh; 1905 

B. tq;fhs Njrpa gs;spfs; (k) fy;Y}hpfs; 2. Mf];L 1906 

C. fy;fj;jh khehL    3. brk;gh; 1906 
 A B C 
a. 1 3 2 
b. 3 2 1 
c. 1 2 3 
d. 2 3 1 
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42. Match the following:  
INC President      Year  
A. Mahatma Gandhi    1. 1931   
B. Sardar Vallabhai Patel    2. 1929 
C. Jawaharlal Nehru    3. 1938 
D. Subash Chandra Bose     4. 1924 

A B C D  
 a. 3 2 1 4 
 b. 1 4 3 2 
 c. 2 4 1 3 
 d. 4 1 2 3 

nghUj;Jf:  
,e;jpa Njrpa fhq;fpu]pd; jiyik  Mz;L  
A. kfhj;kh fhe;jp     1. 1931 
B. rh;jhh; ty;ygha; gNly;    2. 1929  
C. [t`h;yhy; NeU    3. 1938 
D. Rgh~; re;jpu Ngh];    4. 1924 

A B C D  
 a. 3 2 1 4 
 b. 1 4 3 2 
 c. 2 4 1 3 
 d. 4 1 2 3 

 
43. Consider the following statements 

1. Vanchinathan was born in 1885 in the Travancore state  
2. He was employed as a forest guard at Punalur in the then Travancore state   
3. He was associated with Bharat Mata Association and trained by V D 

Savarkar 
a. 1 only correct b. 2 only correct c. Both 1 and 2 correct d. None  of these 
gpd;tUk; $w;Wfis Ma;f 
1. jpUthq;$h; khfhzj;jpy; 1885-y; thQ;rpehjd; gpwe;jhh;.  
2. ,th; jpUthq;$h; khfhzj;jpYs;s GdY}hpy; tdg;ghJfhg;G mYtyuhf ,Ue;jth;  
3. ,th; ghuj khjh rq;fj;jpdhy; <h;f;fg;gl;L> V.D. rhth;f;fhplk; gapw;rp ngw;wth;. 
a. 1 kl;Lk; rhp b. 2 kl;Lk; rhp  c. 1 kw;Wk; 2 rhp d. vJTkpy;iy  
 

44. Consider the following statements 
1. Gandhi returned to India in 1916, January 9 
2. It is celebrated as Pravasiya Bharathiya Diwas  

a. 1 only correct    b. 2 only correct     
c. Both 2 and 2only correct   d. None  
gpd;tUk; $w;Wfis Ma;f 
1. fhe;jp [dthp 9> 1916 y; ,e;jpahtpw;F jpUk;gpdhh;  
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2. ,J gpuNtrpa ghujpa jpth]; vd nfhz;lhlg;gLfpwJ. (ntspehL tho; 
,e;jpah;fs; jpdk;) 

a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp  
c. 1 kw;Wk; 2 ,uz;Lk; rhp d. vJTkpy;iy  

 
45. According to Indian Councils Act, 1919 

1. The central legislative assembly was to have 41 nominated members, out of a 
total of 144  

2. The upper house known as the council was to have 41 numbers, of whom 26 
were to be nominated   

a. 1 only correct    b. 2 only correct   
c. Both 1 and 2 only correct  d. None  
,e;jpa fTd;rpy; rl;lk; 1919 njhlh;ghf gpd;tUk; $w;Wfis Ma;f 
1. kj;jpa rl;lkd;wkhdJ nkhj;jKs;s 144 cWg;gpdh;fspy; 41 epakd 

cWg;gpdh;fisg; ngw;Ws;sJ.  
2. NkyitahdJ nkhj;jKs;s 41 cWg;gpdh;fspy; 26 epakd cWg;gpdh;fisf; 

nfhz;l mitahf cs;sJ.  
a. 1 kl;Lk; rhp    b. 2 kl;Lk; rhp  
c. 1 kw;Wk; 2 ,uz;Lk; rhp  d. vJTkpy;iy  

 
46. If a, b, c, l, m, n are in A.P., the 3a + 7, 3b +7, 3c + 7, 3l + 7, 3m + 7, 3n + 7 from 

a. a G.P    b. an A.P     
c. a constant sequence   d. neither A.P. nor G.P 
a, b, c, l, m, n vd;gd $l;Lj; njhlh;thpirapy; mike;Js;sd vdpy;> 3a + 7, 3b + 7, 3c 
+ 7, 3l + 7, 3m + 7, 3n + 7 vd;w njhlh;thpir 
a. xU ngUf;Fj; njhlh;thpir 
b. xU $l;Lj; njhlh;thpir 
c. xU khwpypj; njhlh;thpir 
d. xU $l;Lj; njhlh;thpirAk; my;y ngUf;Fj; njhlh;thpirAk; my;y 

 
47. The sum of 2n terms of series: 2 2 2 21 2 3 4 .......     

a.  2 2 1n n   b.  2 2 1n n  c.  2 1n n   d.  2 1n n   
2 2 2 21 2 3 4 .......     vd;w thpirapd; 2n cWg;Gfs; tiu $Ljy; fhz;f 

a.  2 2 1n n   b.  2 2 1n n  c.  2 1n n   d.  2 1n n   

 

48. If the “n”th term of the sequence an =  
2

2 3

n

n




, find a9 

a. 
10

21
   b. 

12

11
   c. 

13

11
   d. 

11

21
 

xU njhlh; thpirapd; n Mk; cWg;G an =  
2

2 3

n

n




 vdpy; a9 fhz;f. 

a. 
10

21
   b. 

12

11
   c. 

13

11
   d. 

11

21
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49. An organisation plans to plant saplings in 25 streets in a town in such a way that 

one sapling for the first street, two for the second, four for the third, eight for the 
fourth street and so on. How many saplings are needed to complete the work? 

 a. 
252    b. 

252 1   c. 
242 1   d. 

242  
xU njhz;L epWtdk; xU efuj;jpYs;s 25 tPjpfspy; kuf;fd;Wfis eLk;nghUl;L> 
Kjy; tPjpapy; xU kuf;fd;Wk;> ,uz;lhk; tPjpapy; ,U kuf;fd;Wfs;> %d;whk; 
tPjpapy; 4 kuf;fd;Wfs;> ehd;fhtJ tPjpapy; 8 kuf;fd;Wfs; vd;w Kiwapy; 
eLtjw;F jpl;lkpLfpwJ. mt;Ntiyia Kbf;fj; Njitahd kuf;fd;Wfspd; 
vz;zpf;ifiaf; fhz;f 

a. 
252    b. 

252 1   c. 
242 1   d. 

242  
       
50. The sum of first n terms of the series 7 + 77 + 777 + …. is 
 7 + 77 + 777 + ….  Kjy; n cWg;Gfspd; $Ljy; fhz;f. 

 a. 
 10 10 17

9 9

n

n
 
 
  

   b. 
 70 10 1

9

n

n
 
 
  

 

 c. 
 10 10 17

7
9 81

n

n
 
 
  

  d. 
 70 10 1 7

9 9

n

n
 
 
  

 

 
51. Match the following 

A. Kancheepuram   1. Turmeric  
B. Coimbatore  2. Temple Jewellery 
C. Erode   3. Kuthuvilakku 
D. Nagercoil  4. Silk 
E. Nachiarkoil  5. Sungudi 
F. Madurai   6. Wet Grinder, Cora cotton  
 A B C D E F  
a. 4 5 6 1 2 3 
b. 4 6 2 1 3 5  
c. 4 6 1 2 3 5  
d. 4 5 6 1 3 2  
nghUj;Jf: 
A. fhQ;rpGuk;   1. kQ;rs; 
B. Nfhak;Gj;J}h;  2. Nfhtpy; eiffs;  

C. <NuhL   3. Fj;Jtpsf;F  
D. ehfh;Nfhtpy;  4. gl;L  

E. ehr;rpahh; Nfhtpy; 5. Rq;Fb Nriyfs;  

F. kJiu   6. <u miug;ghd;> Nfhuh fhl;ld;  
 A B C D E F  
a. 4 5 6 1 2 3 
b. 4 6 2 1 3 5  
c. 4 6 1 2 3 5  
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d. 4 5 6 1 3 2  
52. Find the Incorrect pair  

a. Northern Railway  - Jammu 
b. North Eastern Railway - Gorakpur 
c. West central Railway  - Jabalpur 
d. South Eastern Railway  - Kolkata 
jtwhd ,iziaf; fz;lwpf.  
a. tlf;F ,uapy;Nt   - [k;K  

b. tl fpof;F ,uapy;Nt  - Nfhuf;G+h; 
c. Nkw;F kj;jpa ,uapy;Nt - [gy;G+h;  

d. njd; fpof;F ,aupy;Nt  - nfhy;fj;jh 

 
53. Human development Index – Rank of India in 2018 is _________ 

a. 129   b. 130   c. 131   d. 132 
2018 k; Mz;by; kdpjts Nkk;ghl;Lf; FwpaPl;bd;gb ,e;jpahtpd; juthpirahdJ 
______. 
a. 129   b. 130   c. 131   d. 132 
 

54. Consider the following statements.  
1. Least Densely populated state is Arunachal Pradesh (17)  
2. Puducherry has highest sex ratio (1084) in India.  
3. Bihar has lowest literacy Rate in India (63.82%) 
4. Gatiman express is fastest Train in India (160kmph) connecting New Delhi & 

Agra.  
Find the Incorrect statement.  
a. 3  b. 1  c. 4  d. 2  
gpd;tUk; $w;Wfisf; fUJf.  
1. mUzhr;ryg; gpuNjrkhdJ (17) kpff; Fiwe;j kf;fslh;j;jp nfhz;l 

khepykhFk;.  
2. GJr;NrhpahdJ ,e;jpahtpy; mjpf ghypd tpfpjk; (1084) nfhz;ljhFk;  
3. ,e;jpahtpy; Fiwe;j vOj;jwpT ngw;w khepykhf (63.82%) gPfhh; cs;sJ.  
4. GJnly;yp kw;Wk; Mf;uhit ,izf;Fk; fhj;jpkd; mjptpiuT tz;bahdJ 

,e;jpahtpd; kpf mjpfNtf  ,uapyhFk;.  
jtwhd $w;iwf; fz;Lgpb.  
a. 3  b. 1  c. 4  d. 2  
 

55. Chennai Metro started it‟s First Commercial Operation from _________ 
a. Aug 15, 2013 b. Jan,26 , 2014 c. 29, June, 2015  d. Oct, 2, 2017  
nrd;id nkl;Nuh jdJ KjyhtJ tzpf eltbf;ifia _____ ypUe;J Jtq;fpaJ.  
a. Mf];L 15> 2013    b. [dthp 26> 2014 
c. [Pd; 29> 2015     d. mf;Nlhgh; 2> 2017 

 

56. The concept of Red list was Mooted in the year 
a. 1963  b. 1973  c. 1983  d. 1993 
rptg;Gg; gl;bay; vDk; KiwahdJ mwpKfg;gLj;jg;gl;l Mz;L _________. 
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a. 1963  b. 1973  c. 1983  d. 1993 
57. Consider the following statements  

1. National Tiger Conservation Authority was formed under Wildlife 
Protection Act (1972). 

2. Project Tiger (1973) was launched in Jim Corbett National Park 
3. Tamil Nadu bags (264 tigers) and ranks 5th in tiger population.  

a. 2 alone correct    b. 3 alone correct 
c. 1 alone correct    d. All are correct  
 gpd;tUk; $w;Wfisf; fUJf.  

1. td tpyq;Ffs; ghJfhg;Gr; rl;lk; (1972)-d; gb Njrpa Gypfs; fhg;gf 
MizakhdJ mikf;fg;gl;lJ> 

2. Gypfs; ghJfhg;G jpl;lkhdJ (1973) [pk; fhh;ngl; Njrpag; G+q;fhtpy; 
Jtf;fg;gl;lJ.  

3. Gypfspd; nkhj;j vz;zpf;ifapy; jkpo;ehL 264 GypfSld; 5tJ ,lj;ij 
tfpf;fpwJ.  

a. 2 kl;Lk; rhp    b. 3 kl;Lk; rhp  
c. 1 kl;Lk; rhp    d. midj;Jk; rhp  
 

58. __________ has contributed a lot for Ecological and Organic Farming.  
a. M.S. Swaminathan   b. Manmohan Singh 
c. G. Nammalvar    d. Salim Ali 
#oypay; (k) ,aw;if tptrhaj;jpw;F kpfg;nghpa gq;fhw;wpath; _______. 
a. M.S. Rthkpehjd;   b. kd;Nkhfd; rpq;  
c. G. ek;kho;thh;    d. ryPk; myp  
 

59. Indian Government has planned to Rollout BS VI - Norms from _________ 
a. April, 1, 2019   b. April, 1, 2020  
c. April, 1, 2021   d. April, 1, 2022 
,e;jpa murhq;fkhdJ ________ ypUe;J BSVI – tpjpKiwfisg; gug;gj; 
jpl;lkpl;Ls;sJ.  
a. Vg;uy; 1> 2019    b. Vg;uy; 1> 2020  
c. Vg;uy; 1> 2021   d. Vg;uy; 1> 2022  
 

60. Tamil Nadu Government has Implemented the Ban on Single use Plastics from 
_________ 
a. June, 5, 2018 b. Jan, 1, 2018 c. June, 5, 2019 d. Jan, 1, 2019 
jkpof murhdJ xUKiw kl;Lk; gad;gLj;jf;$ba gpsh];bf;FfSf;fhd jilia 
_________ ypUe;J eilKiwg;gLj;jpAs;sJ 

a. [Pd; 5> 2018    b. [dthp 1> 2018  
c. [Pd; 5> 2019    d. [dthp 1, 2019  
 

61. Consider the following statements 
1. Morris D Morris developed the Physical Quality of Life Index (PQLI) 
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2. The difference between PQLI and HDI is inclusion of income in HDI and 
exclusion of Income in PQLI 

a. only 1 is correct   b. only 2 is correct 
c. both 1 and 2 is correct  d. neither 1 nor 2 is correct 
gpd;tUk; $w;Wfis Ma;f 
1. tho;f;ifj; juf;FwpaPL (PQLI) I Nkhhp]; Nltpl; Nkhhp]; cUthf;fpdhh; 
2. kdpjts Nkk;ghl;L FwpaPl;by; (HDI) tUkhdj;ij Nrh;j;Jk; kw;Wk; tho;f;if 

ju FwpaPl;by; (PQLI) tUkhdj;ij Nrh;f;fhky; fzf;fpLtNj ,t;tpuz;bw;Fkhd 
NtWghL MFk; 

a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
 

62. Identify the incorrect statements among the following 
a. The two main objectives of fourth five year plan was growth with stability and 

progressive achievement of self reliance 
b. The main focus of sixth five years plan was growth with justice and equity 
c. The main theme of eleventh five year plan was faster and more inclusive growth 
d. The main theme of twelfth five year plan was faster, more inclusive and 

sustainable growth 
jtwhd $w;iwf; fz;lwpf 
a. epiyahd tsh;r;rp kw;Wk; Ra ek;gfj;jd;ikapd; Kw;Nghf;fhd ,yf;F Mfpait 

4tJ Ie;jhz;L jpl;lj;jpd; ,uz;L Kf;fpa Nehf;fq;fshFk; 
b. 6tJ Ie;jhz;L jpl;lj;jpd; Kf;fpa Nehf;fk; rk ePjpAld; $ba tsh;r;rp 
c. 11tJ Ie;jhz;Lj; jpl;lj;jpd; Kf;fpa Nehf;fk; tpiuthd kw;Wk; mjpf 

cs;slf;fpa tsh;r;rp 
d. 12tJ Ie;jhz;Lj; jpl;lj;jpd; Kf;fpa Nehf;fk; tpiuthd> mjpf cs;slf;fpa 

kw;Wk; epiyahd tsh;r;rp 
 

63. The planning commission has been replaced by NITI Aayog and NITI Aayog came 
into existence on 
a. 1 Jan, 2016 b. 1 Jan, 2014 c. 1 Jan, 2015 d. 1 Jan, 2017  
jpl;lf;FOtpw;F gjpyhf epjp MNahf; mikg;G nfhz;Ltug;gl;lJ. NkYk; epjp 
MNahf; vg;NghJ eilKiwf;F te;jJ? 
a. 1 [dthp 2016  b. 1 [dthp> 2014   
c. 1 [dthp> 2015  d. 1 [dthp> 2017 
 

64. Match the following 
A. People‟s Plan  1. Jaiprakash Narayan 
B. Sarvodaya Plan  2. 8 leading industrialists 
C. Gandhian Plan  3. M.N. Roy 
D. Bombay Plan  4. S.N. Agarwal 
 A B C D 
a. 2 4 3 1 
b. 3 1 4 2 
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c. 4 1 3 2 
d. 1 3 2 4 
nghUj;Jf 
A. kf;fs; jpl;lk;  1. n[agpufh~; ehuhazd; 
B. rh;Nthjah jpl;lk; 2. 8 Kd;dzp njhopygjpfs; 
C. fhe;jpa jpl;lk;  3. M.N. uha; 
D. gk;gha; jpl;lk;  4. S.N. mfh;thy; 

 A B C D 
a. 2 4 3 1 
b. 3 1 4 2 
c. 4 1 3 2 
d. 1 3 2 4 
 

65. Consider the following statements 
1. Short term plans are also known as controlling plans 
2. Long term plans are also known as perspective plans 
a. only 1 is correct   b. only 2 is correct 
c. both 1 and 2 is correct  d. both 1 and 2 is incorrect 
gpd;tUk; $w;Wfspy; rhpahdtw;iw Njh;e;njL 
1. FWfpa fhy jpl;lq;fs; fl;Lg;ghLila jpl;lq;fs; vd miof;fg;gLfpd;wd 
2. ePz;lfhy jpl;lq;fs; njhiyNehf;F jpl;lq;fs; vd miof;fg;gLfpd;wd 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 

 
66. Which country has announced to relocate its capital to East Kalimantan province 

on Borneo island? 
a. Taiwan  b. Indonesia  c. Phillipines d. Brunei Darusalem 
jdJ jiyefiu Nghh;dpNah jPtpy; cs;s fpof;F fypke;jd; khfhzj;jpw;F 
khw;wtjhf mwptpj;j ehL vJ? 
a. ijthd;  b. ,e;NjhNdrpah c. gpypg;igd;]; d. GUNd jUNryk; 
 

67. The Government of India is celebrating the month of September as the National 
Nutrition Month. What is the theme? 
a. Complementary Feeding  b. Good diet for Healthy life 
c. Proper Hygiene Healthy Life  d. Correct Feed for Good Life 
,e;jpa muR nrg;lk;gh; khjj;ij Njrpa Cl;lr;rj;J khjkhf nfhz;lhbaJ. ,jd; 
ikaf;fU ahJ? 
a. Complementary Feeding  b. Good diet for Healthy life 
c. Proper Hygiene Healthy Life  d. Correct Feed for Good Life 
 

68. Who has won the 40th edition of Sarala Puraskar for his poetry Charu Chibar O 
Charjya? 
a. Siddheswara parida b. Bansidhar Panda 
c. Satrughna Pandav d. Pradeep Dash 
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rhU rpgh; X rhh;[pah vd;w jdJ ftpijf;fhf rush Gu];fhhpd; 40tJ gjpg;ig 
ntd;wth; ahh;? 
a. rpj;Nj];tuh ghhplh b. gd;rpjhh; ghd;lh 
c. rj;Uf;dh ghz;lt; d. gpujPg; Nj~; 

 
69. Which state was awarded National Tourism Award in Best Film Promotion 

friendly state? 
a. Telangana b. Andhra Pradesh c. Uttarakhand d. Madhya Pradesh 
rpwe;j jpiug;gl el;G khepyj;jpw;fhd Njrpa Rw;Wyh tpUJ ntd;w khepyk; vJ? 
a. njYq;fhdh b. Me;jpugpuNjrk;  c. cj;jufhz;l; d. kj;jpagpuNjrk; 
 

70. After the Merger of 10 Public Sector Banks into 4 public sector banks. Now the 27 
Public Sector bank reduced to 
a. 12 Public Sector Banks b. 10 Public Sector Banks 
c. 8 Public Sector Banks  d. 17 Public Sector Banks 
10 nghJj;Jiw tq;fpfis 4 nghJj;Jiw tq;fpfis ,izj;j gpd;dh; ,g;nghOJ 
27 nghJj;Jiw tq;fp vj;jid tq;fpfshf Fiwf;fg;glTs;sJ? 
a. 12 nghJj;Jiw tq;fpfs; b. 10 nghJj;Jiw tq;fpfs; 
c. 8 nghJj;Jiw tq;fpfs; d. 17 nghJj;Jiw tq;fpfs; 
 

71. Some sweets were to be distributed equally among 540 students of a school. But 
due to absence of 120 students, each child got 4 more sweets. How many sweets 
were to be distributed to each student originally? 

 a. 12   b. 14   c. 16   d. 18 
xU gs;spapy; cs;s 540 khzth;fSf;F ,dpg;Gfs; rkkhf gfph;e;jspf;fg;gl 
Ntz;Lk;. Mdhy; 120 khzth;fs; tpLg;G vLj;jjhy;> jw;Nghija vz;zpf;ifapy; 
 xt;nthU khztUf;Fk; 4 ,dpg;Gfs; mjpfkhf fpilj;jd vdpy;> 
cz;ikahf  xt;nthU khztDf;Fk; fpilf;ff; $ba ,dpg;Gfs; vj;jid? 
a. 12   b. 14   c. 16   d. 18   

 
72. A clock is showing the time 12 hours 40 minutes. If a mirror is placed in front of the 

clock, then what will be the time seen in the clock through the mirror? 
a. 11 hrs 20 mts   b. 12 hrs 40 mts 
c. 10 hrs 10 mts   d. 8 hrs 50 mts 
xU fbfhuk; 12 kzp 40 epkplq;fisf; fhl;LfpwJ.  me;jf; fbfhuj;jpw;F Kd;ghf 
xU fz;zhb itf;fg;gLfpwJ vdpy;> me;jf; fz;zhb topahf Njhd;Wk; fbfhu 
kzp vd;d?  
a. 11 kzp 20 epkplq;fs;  b. 12 kzp 40 epkplq;fs; 
c. 10 kzp 10 epkplq;fs;  d. 8 kzp 50 epkplq;fs; 

 
73. Manoj and Sachin are ranked seventh and eleventh respectively from the top in a 

class of 31 students. What will be their respective ranks from the bottom in the 
class?  
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 a. 20th and 24th b. 24th and 20th  c. 26th and 22nd d. 25th and 21st 
31 khzth;fis nfhz;l xU tFg;gpy; kNdh[; kw;Wk; rr;rpdpd; juthpirahdJ 
NkypUe;J KiwNa VohtJ kw;Wk; gjpNdhwhtjhf  ,Ue;jdh;. mt;tpUthpd; 
juthpirahdJ filrpapypUe;J vd;dthf ,Uf;Fk;? 

 a. 20th, 24th  b. 24th, 20th   c. 26th, 22nd  d. 25th,  21st 
 
74. Rohan ranked eleventh from the top and twenty-seventh from the bottom among 

the students who passed the annual examination in a class.  If the number of 
students who failed in the examination was 12, how many students appeared for 
the examination? 
a. 48  b. 49    c. 50     d. Cannot be determined 
xU tFg;gpy; Mz;Lj; Nju;tpy; Nju;r;rp ngw;w khztu;fspy; Nuh`d; NkypUe;J 
gjpNdhuhtJ ,lj;jpYk; kw;Wk; fPopUe;J ,Ugj;J VohtJ ,lj;jpYk; cs;shu;. 
Nju;tpy; Nju;r;rp ngwhj khztu;fspd; vz;zpf;if 12 vdpy;> vj;jid khztu;fs; 
mj;Nju;tpy; fye;Jf; nfhz;ldu;? 
a. 48  b. 49    c. 50     d. jPu;khdpf;f ,aytpy;iy 

 
75. A man ate 100 grapes in 5 days.  Each day, he ate 6 more grapes than those he ate 

on the earlier day. How many grapes did he eat on the first day.  
 a. 8   b. 12   c. 76   d. 54 

xUth; xt;nthU ehSk; Ke;ja ehs; rhg;gpl;l jpuhl;irfspd; vz;zpf;ifiatpl 6 
jpuhl;irfs; $Ljyhf rhg;gpLfpwhh;. 5 ehl;fspy; 100 jpuhl;irfs; rhg;gpl;lhy; Kjy; 
ehs; mth; rhg;gpl;l jpuhl;irfspd; vz;zpf;if vd;d?  
a. 8   b. 12   c. 76   d. 54 
 

76. The Act which provides for the acquisition and termination of the Indian 
citizenship is  
a. The citizenship Act, 1955   b. The Passport Act, 1967 
c. Representation of Peoples Act, 1951   d. The Immigrants Act, 1950 
,e;jpa FbAhpikia ngWtjw;Fk;> epWj;Jtjw;Fk; toq;Fk; rl;lk; vJ?  
a. FbAhpikr; rl;lk;> 1955   b. flTr;rl;lk;> 1967 
c. kf;fs; gpujpepjpj;Jtr; rl;lk; 1951  d. FbNawpath;fs; rl;lk;> 1950 
 

77. Kudavolai system was followed by  
a. Cheras   b. Pandyas   c. Cholas   d. Kalabhras   
FlNthiy Kiwia gpd;gw;wpath;fs; ahh;?  
a. Nruh;fs;   b. ghz;bah;fs;  c. Nrhoh;fs;  d. fsg;gpuh;fs;  
 

78. POCSO Act was passed in __________ 
a. 2012  b. 2013  c. 2014  d. 2011  
POCSO rl;lk; epiwNtw;wg;gl;l Mz;L? 
a. 2012  b. 2013  c. 2014  d. 2011  
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79. If you elected as the President of India, which of the following decision can you 

take on your own? 
a. Nominate the leader of your own choice to the Council of Ministers  
b. Ask for reconsideration of a bill Passed by both the houses of LokSabha  
c. Select the person you like as Prime Minister  
d. Dismiss a Prime Minster who was has a Majority in the LokSabha      
,e;jpahtpd; FbauRj; jiytuhf ePq;fs; Njh;e;njLf;fg;gl;lhy;> gpd;tUk; ve;j 
Kbit ePq;fs; nrhe;jkhf vLf;f KbAk;? 
a. cq;fs; tpUg;gg;gb mikr;ruitf; FOtpd; jiytiu ghpe;Jiuf;fyhk;  
b. Nyhf; rigapd; ,U mitfSk; epiwNtw;wpa kNrhjhit kWghprPyidf;F 

mDg;gyhk;.  
c. ePq;fs; ahiu tpUk;GfpwPh;fNsh mth;fis gpujkuhf Njh;e;njLf;fyhk;.  
d. Nyhf; rigapy; ngUk;ghd;ik ngw;w gpujk mikr;riu epuhfhpf;fyhk;  
 

80. The constituent assembly debate consists of 12 Volume and it was held between  
a. 9th December 1946 to 24 January 1950   b. 9th December 1946 to 26 January 1950 
c. 3rd June 1947  to 24 January 1950  d. 15th August 1947 to 26 January 1950 
murpayikg;G eph;za rigapy; 12 njhFjpfs; gw;wpa tpthjk; vjw;fpilapy; 
eilngw;wJ? 
a. 9 brk;gh; 1946 - 24 [dthp 1950   b. 9 brk;gh; 1946 - 26 [dthp 1950  
c. 3 [Pd; 1947 – 24 [dthp 1950   d. 15 Mf];l;> 1947 – 26 [dthp 1950  
 

81. Match the following: 
Places of Revolt   Indian leaders    British officials who 

Suppressed the Revolt 
 A. Bihar   1. Bahadur shah II   i. Sir Colin Campbell 
 B. Jhansi & Gwalior  2. Nana Saheb   ii. John Nicolson 
 C. Delhi   3. Kunwar Singh   iii. Henry Lawrence 
 D. Kanpur    4. Begam Hazarat Mahal  iv. General Hugh Rose  
 E. Lucknow   5. Lakshmi Bai, Tantia Tope v. William Taylor    

a. A-3-v  B-5-iv  C-1-ii  D-2-i  E-4-ii 
 b. A-4-iii B-3-ii  C-2-i  D-1-iv E-5-v 

c. A-5-i  B-4-ii  C-3-iii  D-2-v  E-1-iv 
d. A-1-v  B-3-iv  C-5-ii  D-4-iii E-2-i 
nghUj;Jf:  
Gul;rp eilngw;w ,lk;  ,e;jpa jiyth;fs; Gul;rpia mlf;fpa  
         gphpl;b~; mjpfhhpfs;  
A. gPfhh;     1. ,uz;lhk; gfJ}h;~h  i. rh; fhypd; fhk;ngy; 
B. [hd;rp (k) Fthypah;   2. ehdh rhfpg;  ii. [hd; epf;fy;rd; 
C. nly;yp     3. fd;th; rpq;  iii. n`d;wp yhud;]; 

D. fhd;G+h;    4. Ng`k; `];uj;  
       k`hy;   iv. n[duy; `f;Nuh]; 
E. yf;Ndh     5. yl;Rkp gha;>  
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       jhe;jpah Njhg;  v. tpy;ypak; lah;  
a. A-3-v  B-5-iv  C-1-ii  D-2-i  E-4-ii 

 b. A-4-iii B-3-ii  C-2-i  D-1-iv E-5-v 
c. A-5-i  B-4-ii  C-3-iii  D-2-v  E-1-iv 
d. A-1-v  B-3-iv  C-5-ii  D-4-iii E-2-i 
 

82. Who was the collector or Ramanathapuram in 1798? 
a. Edward Clive  b. S.R. Lushington 
c. Thomas Munro  d. Colin Jackson 
1798Mk; Mz;L ,uhkehjGuj;jpd; Ml;rpauhf ,Ue;jth; ahh;? 
a. vl;th;l; fpist;  b. S.R. Y}rpq;ld; 

c. jhk]; kd;Nwh  d. Nfhypd; [hf;rd; 
  

83. Consider the following statements 
1. Under the guidance of Prime minister Ariyanayaga Mudaliar all the little 

kingdoms were converted into 72 Palayams   
2. Nagama Nayak, constructed and formidable fort around Madurai city, which 

consisted of 72 bastions   
a. 1 only Incorrect   b. 2 only Incorrect    
c. Both 1 and 2 are Incorrect  d. None of them is Incorrect   
gpd;tUk; $w;Wfis Ma;f 
1. Kjd;ik mikr;rh; mhpaehaf;f Kjypahhpd; mwpTiug;gb midj;J rpwpa 

muRfSk; 72 ghisaq;fshfg; gphpf;fg;gl;ld.  
2. ehfkehaf;fh; kJiu efiur; Rw;wp 72 Nfhl;ilfisf; fl;b mtw;iw 

typikahf;fpdhh;.  
a. 1 kl;Lk; jtW    b. 2 kl;Lk; jtW  
c. 1 kw;Wk; 2 ,uz;Lk; jtW d. ,uz;Lk; jtwy;y  

 
84. Who was declared as the emperor of India during 1857 revolt? 

a. Bahadur Shah II   b. Nana Saheb 
c. Tantia Tope   d. Kunwar Singh 
1857Mk; Mz;L Gul;rpapd; NghJ ,e;jpahtpd; Nguurh; vd mwptpf;fg;gl;lth; ahh;?  
a. ,uz;lhk; gfJ}h; ~h   b. ehdh rhfpg; 
c. jhe;jpah Njhg;   d. Fd;th; rpq; 
 

85. Which Tribes were also called Manji? 
a. Kol  b. Ramoni  c. Santhal   d. Mundar   
khQ;rp vd miof;fg;gl;l goq;Fb vJ?  
a. Nfhy; b. uNkhdp  c. rhe;jy;  d. Kz;lh;  

 
86. Radio Broadcasting in India was started in 1923 by Radio club of _______ 

a. Bengal   b. Bombay  c. Madras   d. Delhi   
,e;jpahtpy; thndhyp xypgug;ghdJ 1923y; _______ thndhyp ikaj;jpdhy; 
Jtq;fg;gl;lJ. 
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a. tq;fhsk;  b. ghk;Ng   c. nkl;uh];  d. nly;yp 
87. The First Special Economic Zone was started in __________ 

a. Kandla (1965)    b. Madras (1965) 
c. Bhubaneswar (1965)   d. Vizag (1965) 
KjyhtJ rpwg;Gg; nghUshjhu kz;lykhdJ _______ y; Jtq;fg;gl;lJ. 
a. fhz;l;yh (1965)    b. nkl;uh]; (1965)  
c. GtNd];th; (1965)   d. tprhfg;gl;bdk; (1965)  
 

88. The Golden Quadriateral Road Project covering 5846 km was launched in  
a. 1997  b. 1998  c. 1999  d. 2000 
5846 fp.kP ePsKila jq;f ehw;fu rhiyj; jpl;lkhdJ mwpKfg;gLj;jg;gl;l Mz;L 
_________. 
a. 1997  b. 1998  c. 1999  d. 2000 
 

89. The First Satellite of India “Aryabhata” was launched in   
a. 18, April, 1975  b. 19, April, 1975 
c. 20, April, 1975   d. 21, April 1975  
,e;jpahtpd; KjyhtJ nraw;iff; Nfhshd "Mh;agl;lh" tpz;ntspapy; 
nrYj;jg;gl;lJ _______. 
a. Vg;uy; 18> 1975  b. Vg;uy;  9> 1975 

c. Vg;uy; 20> 1975  d. Vg;uy; 21> 1975 
 

90. Tamil was declared as a Classical Language in the year 
a. 2002  b. 2003  c. 2004  d. 2005  
jkpohdJ nrk;nkhopahf mwptpf;fg;gl;l Mz;L _________. 
a. 2002  b. 2003  c. 2004  d. 2005  

 
91. Tamil Nadu Government has declared _________ as state symbol Recently.  

a. Emerald Dove  b. Nilgiri Thar  c. Tamil Yeoman  d. Jack Fruit 
jkpof murhdJ rkPgj;jpy; khepyj;jpd; xU rpd;dkhf ________ I mwptpj;Js;sJ.  

a. kufjg;Gwh  b. ePyfphp tiuahL  c. jkpo; Nathd;   d. gyhg;gok;  
 

92. Match the following 
A. World Water day   1. May 22 
B. Bio Diversity day   2. April 22 
C. Ozone Preservation day  3. February 2  
D. Earth day    4. March 22 
E. World Wetland day   5. September 16  
 A B C D E  
a. 4 1 5 2 3  
b. 4 2 1 3 5  
c. 4 2 1 5 3  
d. 3 2 1 4 5  
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nghUj;Jf. 
A. cyf jz;zPh; jpdk;    1. Nk 22 
B. caphpdg; gy;tifik jpdk;  2. Vg;uy; 22 
C. XNrhd; ghJfhg;G jpdk;  3. gpg;uthp 2 

D. Gtp jpdk;     4. khh;r; 22 
E. cyf <uepyq;fs; jpdk;  5. nrg;lk;gh; 16 

 A B C D E  
a. 4 1 5 2 3  
b. 4 2 1 3 5  
c. 4 2 1 5 3  
d. 3 2 1 4 5  

 
93. Find the Incorrect pair.  

a. Wildlife Protection Act    – 1970 
b. Water Pollution (Prevention) Act  – 1974 
c. Forest conservation Act    – 1980 
d. Environmental protection  Act  - 1986  
jtwhd ,iziaf; fz;lwpf.  
a. tdtpyq;Ffs; ghJfhg;Gr; rl;lk;   - 1970 
b. ePh; khRghL jLg;Gr; rl;lk;    - 1974 
c. fhLfs; ghJfhg;Gr; rl;lk;   - 1980 
d. Rw;Wr;#oy; ghJfhg;Gr; rl;lk;  - 1986  
 

94. _________ is the Forest Man of India. 
a. Jadav Payeng     b. Salim Ali 
c. M.S. Swaminathan   d. Nel Jeyaraman  
,e;jpahtpd; td kdpjd; vdg;gLgth; _________. 
a. [hjt; gNaq;    b. ryPk; myp 
c. M.S. Rthkp ehjd;    d. ney; n[auhkd;  
 

95. Chipko movement was started by Sundarlal Bahuguna in _________ 
a. 1944  b. 1954  c. 1964  d. 1974 
rpg;Nfh ,af;fkhdJ Re;jh;yhy; gFFzhtpdhy; Jtq;fg;gl;l Mz;L ______. 
a. 1944  b. 1954  c. 1964  d. 1974 
 

96. Mr Bhaskar is on tour and he has Rs. 360 for his expenses. If he exceeds his tour by 
4 days. He must cut down his daily expenses by Rs. 3. For how many days is Mr. 
Bhaskar on tour? 

 a. 18   b. 20   c. 21   d. 22 
jpU. gh];fu; vd;gtu; Rw;Wg;gazk; nra;fpwhu;.  nrytpw;fhf &. 360 –I 
itj;Js;shu;. Rw;Wg;gazj;ij 4 ehl;fs; mjpfg;gLj;jpdhy;> jpdr; nrytpy; &.3-I 
Fiwf;f Ntz;Lk; vdpy;> jpU.gh];fu; vj;jid ehl;fs; Rw;Wg;gazk; Nkw;nfhz;lhu;? 
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 a. 18   b. 20   c. 21   d. 22 
97. A board 7 ft. 9 inches long is divided into 3 equal parts. What is the length of each 

part? 
 a. 2 ft. 5 inches    b. 2 ft. 7 inches 
 c. 2 ft. 8 inches    d. 2 ft. 9 inches 
 xU gyifahdJ 7 mb kw;Wk; 9 mq;Fyq;fisf; nfhz;ljhFk;. ,jid 3 

rkghfq;fshf ntl;lg;gLfpwJ vdpy;> xt;nthU ghfq;fspd; msT vd;d? 
 a. 2 mb 5 mq;Fyk;   b. 2 mb 7 mq;Fyk; 
 c. 2 mb 8 mq;Fyk;   d. 2 mb 9 mq;Fyk; 
 
98. Rohan is taller than Anand but shorter than Seema. 

Krishna is taller than Pushpa but shorter than Anand. 
Dhiraj is taller than Krishna but shorter than Seema. 
Who among them is the tallest?  
a. Rohan  b. Seema   
c. Krishna  d. Cannot be determined 
Nuh`d; Mde;ijtpl caukhfTk;> Mdhy; rPkhit tpl Fs;skhfTk; ,Uf;fpwhd;. 
fpU~;zh G~;ghittpl caukhfTk;> Mdhy; Mde;ijtpl Fs;skhfTk; 
,Uf;fpwhd;.   
jpuh[; fpU~;zhittpl caukhfTk;> Mdhy; rPkhittpl Fs;skhfTk; ,Uf;fpwhd;. 
,th;fspy; ahh; kpfTk; caukhdth;?  
a. Nuh`d;  b. rPkh   
c. fpU~;zh  d. eph;zapf;f ,ayhJ 

 
99. A day after tomorrow will be X-mas day. What will be the day on New-year-day if 

today is Monday? 
a. Monday          b. Thursday       c. Wednesday          d. Tuesday 
ehis kWjpdk; fpwpj;Jk];.  ,d;W jpq;fl;fpoik vdpy;> Gj;jhz;L ve;j  
fpoikahf ,Uf;Fk;?  
a. jpq;fs;  b. tpahod;  c. Gjd;  d. nrt;tha;  
 

100. When I found that I was half an hour earlier than the scheduled time of the train, 

the train being late by 1
1

2
 hours, arrived at 6:20 hours. I had reached the station at. 

a.  4:40 hours      b.  5:10 hours   c. 4:20 hours  d. 5:20 hours  
fhy ml;ltizg;gb ,uapy; te;J NrUk; Neuj;ijtpl ehd; miukzp Neuk; 

Kd;djhf uapy; epiyaj;ij nrd;wile;Njd;.  ,uapy; 1
1

2
 kzpNeuk; jhkjkhf 

fhiy 6.20 kzpf;F te;jilfpwJ vdpy;> ehd; ,uapy; epiyaj;ij nrd;wile;j 
Neuk; vd;d? 
a.  4:40 kzpNeuk;       b. 5:10 kzpNeuk;   
c. 4:20 kzpNeuk;   d. 5:20 kzpNeuk; 
 

101. What is the type of Indian Economy? 
a. Socialist Economy   b. Communist Economy 



 

28 | Page PH: 24339436, 42867555, 9840226187 

 

c. Capitalist Economy   d. Mixed Economy 
,e;jpag; nghUshjhuk; ve;j tifiar; rhh;e;jJ? 
a. rkjh;k nghUshjhuk;   b. fk;a+dpr nghUshjhuk; 
c. Kjyhspj;Jt nghUshjhuk;  d. fyg;Gg; nghUshjhuk; 
 

102. Which is correct about the education system in India? 
1. Education in India was under state government until 1976 
2. Education system in India consists of six levels 
a. only 1 is correct   b. only 2 is correct 
c. both 1 and 2 is correct  d. both 1 and 2 is incorrect 
,e;jpahtpy; fy;tp Kiw gw;wpa $w;Wfspy; rhpahdit? 
1. ,e;jpahtpy; fy;tpahdJ> 1976 tiuapy; khepy muRg;gl;baypy; ,Ue;jJ 
2. ,e;jpahtpy; fy;tp Kiw 6 gbepiyfshf cs;sd 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
 

103. The Planning Commission was created on 
a. 15 March, 1951  b. 15 Jan, 1951 
c. 15 March, 1950  d. 15 April, 1951 
jpl;lf;FO vg;NghJ cUthf;fg;gl;lJ? 
a. 15 khh;r; 1951  b. 15 [dthp 1951 
c. 15 khh;r; 1950  d. 15 Vg;uy; 1951 
 

104. Identify the incorrect match 
Five Year Plan   Targets 
a. 8th Five Year Plan  5.6% 
b. 9th Five Year Plan  8% 
c. 10th Five Year Plan  8% 
d. 11th Five Year Plan  8.1% 
nghUj;jkw;w ,iz vJ? 
Ie;jhz;Lj;jpl;lk;   ,yf;F 
a. 8tJ Ie;jhz;Lj;jpl;lk; 5.6% 

b. 9tJ Ie;jhz;Lj;jpl;lk;  8% 
c. 10tJ Ie;jhz;Lj;jpl;lk; 8% 

d. 11tJ Ie;jhz;Lj;jpl;lk; 8.1% 
 

105. Which sector contributes a lion‟s share of the GDP in India? 
a. Quaternary Sector  b. Secondary Sector 
c. Primary Sector   d. Tertiary Sector 
,e;jpahtpd; nkhj;j cs;ehl;L cw;gj;jpapy; fPo;f;fz;l ve;jj;Jiwapd; gq;fspg;G 
mjpfkhFk;? 
a. ehd;fhk; epiy Jiw  b. ,uz;lhk; epiy jiw 
c. Kjd;ik Jiw   d. %d;whk; epiy Jiw 
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106. Match the following 

Books         Authors 
A. Reset: Regaining India‟s Economic Legacy  1. Subramanian Swamy 
B. Being Gandhi       2. Vikram Sampath 
C. Savarkar: Echoes from a forgotten past (1883-1924) 3. Paro Anand 
D. Turbulence and Triumph: The Modi years  4. Rahul Agarwal and  

Bharathi S Pradhan 
A B C D 

a.  2 4 1 3 
b. 1 3 2 4 
c. 4 2 3 1 
d. 3 4 1 2 
nghUj;Jf 
Gj;jfk;         Mrphpah;fs; 
A. Reset: Regaining India‟s Economic Legacy  1. Rg;gpukzpah; Rthkp 
B. Being Gandhi       2. tpf;uk; rk;gj; 
C. Savarkar: Echoes from a forgotten past (1883-1924) 3. ghNu Mde;j; 
D. Turbulence and Triumph: The Modi years  4. uhFy; mfh;thy; kw;Wk; 

ghujp S gpujhd; 
A B C D 

a.  2 4 1 3 
b. 1 3 2 4 
c. 4 2 3 1 
d. 3 4 1 2 
 

107. 14th conference of parties of UN Convention to Combat Desertifiaction (UNCCD) is 
held at 
a. Greater Noida  b. Chennai  c. Mumbai  d. Bangalore 
I.eh.tpd; 14tJ ghiytdkhjy; vjph;g;G khehL __________ eilngw;wJ 
a. fpNul;lh; neha;lh b. nrd;id  c. Kk;ig  d. ngq;f@h; 

 
108. Consider the following statements 

1. 15 September is the International Day of Democracy 
2. Theme of International Day of Democracy 2019 is Participation 
a. Only 1 is correct   b. Only 2 is correct 
c. both 1 and 2 is correct  d. Both 1 and 2 is incorrect 
gpd;tUk; $w;Wfis Ma;f 
1. nrg;lk;gh; 15 rh;tNjr kf;fshl;rp jpdkhFk; 
2. 2019 rh;tNjr kf;fshl;rp jpdj;jpd; ikaf;fU gq;fspg;G 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; rhpay;y 
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109. What is the India‟s Position in Travel and Tourism competitiveness index released 
by the World Economic Forum? 
a. 44  b. 34  c. 54  d. 64 
cyf nghUshjhu kd;wj;jhy; ntspaplg;gl;l gaz kw;Wk; Rw;Wyh Nghl;bj;jpwd; 
FwpaPl;by; ,e;jpahtpd; epiy vd;d? 
a. 44  b. 34  c. 54  d. 64 
 

110. India‟s first garbage café was opened in 
a. Arni, Tamilnadu  b. Agra, Uttarpradesh 
c. Ambala, Punjab   d. Ambikapur, Chhattisgarh 
,e;jpahtpd; Kjy; Fg;ig cztfk; ________ ,y; jpwf;fg;gl;Ls;sJ 
a. Muzp> jkpo;ehL  b. Mf;uh> cj;jpugpuNjrk; 

c. mk;ghyh> gQ;rhg;  d. mk;gpfhg+h;> rl;b~;fh; 

 
111. Instrument of Accession was signed by ___________ 

a. Maharaja Hari Singh   b. Sheikh Abdullah  
c. Sheikh Mujibur Rahman  d. Mehr Chand Mahajan   
,izg;GWjp gj;jpuj;jpy; ifnaOj;jpl;lth; ahh;?  
a. kfhuh[h `hprpq;   b. N~f; mg;Jy;yh 

c. N~f; K[pG+h; uFkhd;  d. nkh;re;j; kfh[d;  
 

112. Majority needed for LokSabha is  
a. 273 seats   b. 271 seats   c. 245 seats   d. 272 seats  
 Nyhf; rigapd; ngUk;ghd;ikia epUgpf;fj; Njitg;gLk; ,lq;fspd; vz;zpf;if  
a. 273 ,lq;fs; b. 271 ,lq;fs;  c. 245 ,lq;fs; d. 272 ,lq;fs;  
 

113. The presiding officer may allow any member to address the house in his mother 
tongue who is not proficient in Hindi or English under __________ 
a. Article 79  b. Article 81  c. Article 112 d. Article 120   
`pe;jp my;yJ Mq;fpyj;jpy; Gyik ,y;yhj cWg;gpdh;fs; jq;fsJ jha;nkhopapy; 
mitapy; ciwahw;w mitj; jiyth; mDkjpf;f Ntz;Lk; vdf; Fwpg;gpLk; ruj;J 
_______. 
a. ruj;J 79  b. ruj;J 81  c. ruj;J 112 d. ruj;J 120  
 

114. The Governor can be appointed for 2 or more states from the amendment of 
__________  
a. 1950  b. 1952   c. 1955  d. 1956 
,uz;L my;yJ mjw;F Nkw;gl;l khepyq;fSf;F xU MSeiu epakpf;Fk; 
murpayikg;G jpUj;jk; ________. 
a. 1950  b. 1952   c. 1955  d. 1956 
 

115. Which Amendment provided for transfer of 5 Subjects from State list to Concurrent 
list? 
a. 42nd amendment, 1976  b. 43th Amendment, 1978 
c. 44th amendment, 1978  d. 45th Amendment, 1980 
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ve;j murpayikg;Gj; jpUj;jr; rl;lk; 5 Jiwfis khepy gl;baypypUe;J nghJg; 
gl;baYf;F khw;wpaJ?  
a. 42-tJ murpayikg;G jpUj;jk;> 1976 
b. 43-tJ murpayikg;G jpUj;jk;> 1978  
c. 44-tJ murpayikg;G jpUj;jk;> 1978 

d. 45-tJ murpayikg;G jpUj;jk; 1980 
 

116. The period of Dheeran Chinnamalai, 
a. 1787-1807 b. 1755-1806 c. 1758-1808 d. 1756-1805 
jPud; rpd;dkiyapd; fhykhdJ _________. 
a. 1787-1807 b. 1755-1806 c. 1758-1808 d. 1756-1805 
  

117. Match the following: 
A. Tolstoy   1. “Unto this last”  
B. Ruskin    2. “Civil disobedience”  
C. Thoreau    3. “The kingdom of God is within you”  
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 3 1 2 
d. 2 1 3 
nghUj;Jf:  
A. lhy;];lha;   1. md;^ j yh];l;  
B. u];fpd;   2. rl;lkWg;G  

C. Njh&   3. cd;Ds; ,Uf;Fk; Mz;ltdpd; muR  

 A B C 
a. 1 2 3 
b. 3 2 1 
c. 3 1 2 
d. 2 1 3 
 

118. Phoneix settlements was established in  
a. 1906 b. 1908  c. 1905  d. 1910  
gPdpf;]; jPh;Tfs; nfhz;Ltug;gl;l Mz;L  
a. 1906 b. 1908  c. 1905  d. 1910  
 

119. What consist of conservative programmes? 
a. Khadi     b. Hindu-Muslim unity  
c. Abolition of untouchability    d. All the above  
goikthj jpl;lq;fs; nfhz;bUg;git ahit?  
a. fhjp     b. ,e;J – K];yPk; xw;Wik  

c. jPz;lhikia xopj;jy;   d. Nkw;fz;l midj;Jk;  
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120. Find out the correct statements 
1. The communist party of India was started in New Delhi in 1920 by MN Roy   
2. It was started inspired by the Russian Revolution of 1917.  
3. The other founding members were Abani Mukherjee, M. P. T Acharya   
4. Kanpur Conspiracy Case and Meerut Conspiracy Case were related to 

communist party of India. 
a. 1 only  b. 1, 2, 3 only c. 2, 3, 4 only d. 1, 2, 3, 4 only 
rhpahd $w;Wfis fz;lwpf 
1. 1920 y; GJ nly;ypapy; ,e;jpa fk;A+dp];L rl;rpahdJ M.N.uhahy; 

Jtq;fg;gl;lJ.  
2. ,J 1917 u~;ag; Gul;rpia J}z;LNfhyhff; nfhz;L Jtf;fg;gl;lJ.  
3. mghdp Kfh;[p M.P.T. Mr;rhh;ah Nghd;Nwhh; gpw mbg;gil cWg;gpdh;fshth;  
4. fhd;G+h; rjp tof;F (k) kPul; rjp tof;F Nghd;wit ,e;jpa fk;A+dp];L 

fl;rpAld; njhlh;GilaitahFk;.  
a. 1 kl;Lk;  b. 1, 2, 3 kl;Lk;  c. 2, 3, 4 kl;Lk; d. ,it midj;Jk;  
 

121. Three men A, B and C can complete a job in 8, 12 and 16 days 
respectively. A and B work together for 3 days; then B leaves and 
C joins. In how many days, can A and C finish the work? 
a. 2 days  b. 3 days  c. 12 days  d. 4 days 
A, B, C vd;w %th; xU Ntiyia KiwNa 8> 12> 16 ehl;fspy; Kbg;ghh;fs;. A, B 
,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fSf;F nra;jdh;. gpd;dh; B tpyFfpd;whh;> C 
NrUfpd;whh; vdpy;> A, C Mfpa ,UtUk; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;fs;? 
a. 2 ehl;fs;  b. 3 ehl;fs;  c. 12 ehl;fs;  d. 4 ehl;fs; 

 
122. The difference between C. I. and S. I. for 2 years on a sum of 

money lent at 5% p.a. is Rs.5. Find the sum of money lent. 
a. 2000  b. 20000  c. 4000  d. 500 
xU fld; njhif kPJ 2 Mz;Lfspy; 5% Mz;L tl;b tPjk; 2 Mz;Lfspy; 
fpilf;Fk; $l;L tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrk; &gha; 5 vdpy; 
mj;njhifiaf; fhzTk; 
a. 2000  b. 20000  c. 4000  d. 500 

 
123. What percent is 15 paise of 2 rupees 70 paise? 

a.
 

5
4

9
   b. 

5
5

9    
c. 

7
4

9
   d.

 

7
5

9
 

2 &gha; 70 igrhtpy; 15 igrh vj;jid rjtPjk;? 

a.
 

5
4

9
   b. 

5
5

9    
c. 

7
4

9
   d.

 

7
5

9
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124. Anbarasan purchased a house for ` 17,75,000 and spent Rs. 1,25,000 on its interior 
decoration. He sold the house to make a profit of 20%. Find the S.P. of the house.  
a. ` 22,55,000    b. ` 19,00,000    
c. ` 22,80,000    d. ` 21,30,000 
md;gurd; xU tPl;il ` 17,75,000f;F thq;fpdhh;. gpd;G cl;Gwq;fis Rs. 
1,25,000f;F moFg;gLj;jp mij 20% ,yhgj;jpw;F tpw;whh; vdpy; tpw;gid 
tpiyiaf; fhz;f. 
a. ` 22,55,000    b. ` 19,00,000    
c. ` 22,80,000    d. ` 21,30,000 
 

125. An almirah is sold at `5,225 after allowing a discount of 5%.  Find its marked price. 
a. `5,400  b. `5,300  c. `5,500  d. `5,200 
Xh; mykhhp 5% js;Sgbapy; &.5>225f;F tpw;fg;gLfpd;wJ. mjd; Fwpj;j tpiyiaf; 
fhz;f. 
a. `5,400  b. `5,300  c. `5,500  d. `5,200 

 
126. 100th Airport of India was opened by PM Modi in __________ 

a. Guwahati (Assam)   b. Jorhat (Assam) 
c. Pakyong (Sikkim)   d. Itanagar (Arunachal Pradesh) 
gpujkh; Nkhbahy; ,e;jpahtpd; 100tJ tpkhdepiyakhdJ jpwe;J itf;fg;gl;lJ 
_________. 
a. nfs`hj;jp (m];]hk;)  b. N[hh;fl; (m];]hk;) 

c. ghfpahq; (rpf;fpk;)    d. ,lhefh; (mUzhr;ryg;gpuNjrk;)  
 

127. The First National Waterway in India with 24 hour Navigation facilities is 
__________ 
a. NW 1 – Haldia & Allahabad. (1620 KM) 
b. NW 2 – Dhubri & Sadiya (891 KM) 
c. NW 3 – Kollam & Kottapuram (205 KM) 
d. NW 4 – Kakinada to Pudhucherry (1095 KM)  
24 kzp NeuKk; nray;glf;$ba ,e;jpahtpd; Kjy; Njrpa ePh;topg; 
Nghf;Ftuj;jhdJ ________. 
a. NW 1  - `hy;jpah (k) myfhghj; (1620 fp.kP)  
b. NW 2  - Jg;hp kw;Wk; fhbah (891 fp.kP)  

c. NW 3 - nfhy;yk; kw;Wk; Nfhl;lGuk; (205 fp.kP)  

d. NW 4 – fhf;fpehlhtpypUe;J GJr;Nrhpf;F (1095 fp.kP)  
 

128. The First Postal Stamp in India was issued in 1852 in __________ 
a. Karachi  b. Madras  c. Bombay  d. Bengal  
1852-y; ,e;jpahtpd; Kjy; mQ;ry; tpy;iyahdJ _______y; ntspaplg;gl;lJ.  
a. fuhr;rp  b. nkl;uh];  c. Kk;ig   d. tq;fhsk;  
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129. Consider the following statement.  
I. INCOSPAR - Indian National Committee for Space Research – was formed in 

1962.  
II. Later it was renamed to Indian Space Research Organization in 1969.  

a. I alone correct    b. II alone correct  
c. I & II correct    d. I & II Wrong  
gpd;tUk; $w;Wfis Ma;f 
I. INCOSPAR – tpz;ntsp Muha;r;rpf;fhd ,e;jpa Njrpaf; FOthdJ 1962-y; 

mikf;fg;gl;lJ.  
II. gpd;dhspy; ,J ,e;jpa tpz;ntsp Muha;r;rpf; fofkhf 1969-y; ngah;khw;wk; 

nra;ag;gl;lJ. 
a. I kl;Lk; rhp   b. II kl;Lk; rhp  
c. I kw;Wk; II rhp   d. I kw;Wk; II jtW  

 
130. Gaganyaan – (Indian Human Space flight programme) is to be launched in 2022 

with __________ crew members  
a. Two   b. Four  c. One   d. Three  
ffd;ahd; - (tpz;ntspf;F kdpjh;fis mDg;Gk; ,;e;jpaj; jpl;lk;) MdJ 2022y; 
________ FO cWg;gpdh;fSld; nrYj;jg;gLk;.  
a. ,uz;L  b. ehd;F   c. xd;W  d. %d;W  

 
131. UNESCO added Agasthiyar Malai as Biosphere Reserve in the year 

a. 2014  b. 2015  c. 2016  d. 2017 
UNESCO mikg;gpdhy; mfj;jpah; kiyahdJ ghJfhf;fg;gl;l caph;f;Nfhskhf 
,izj;Jf; nfhs;sg;gl;l Mz;L ________. 
a. 2014  b. 2015  c. 2016  d. 2017 
 

132. Which Forests act like a Shock Absorber to reduce damage from Storms and 
Tsunami‟s? 
a. Boreal forest     b. Tropical rainforest 
c. Coniferous    d. Mangrove forest 
#whtsp> Mopg;Nguiy kw;Wk; cah; miyf; fhyq;fspy; ePhpd; tpiriaf; Fiwf;f 
cjTk; fhLfs; vit?  
a. Nghhpay; fhLfs;    b. ntg;gkz;ly kiof;fhLfs;  

c. Crpapiyf; fhLfs;   d. khq;FNuht; fhLfs;  
 

133. Mudhumalai Sanctuary is famous for __________ 
a. Birds  b. Tiger   c. Elephant  d. Bison 
KJkiy ruzhyakhdJ ________ f;F Gfo;ngw;wjhFk;.  
a. gwitfs;  b. Gyp c. ahid  d. fhl;L vUik 
 

134. Earth summit was held at Rio-de-Janeiro in  
a. 1982  b. 1992  c. 2002  d. 2012  
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hpNah-b-n[dpNuhtpy; Gtp cr;rp khehlhdJ eilngw;w Mz;L _________.  
a. 1982  b. 1992  c. 2002  d. 2012  

 
135. The First Indian Women Wildlife Photographer is ________ 

a. Latika Nath   b. Sooni Taraporevala 
c. Serin Geroge   d. Rathika Ramasamy  
________ ,e;jpahtpd; KjyhtJ ngz; tdtpyq;F Gifg;glf;fiyQh; Mthh;. 
a. yj;jpfh ehj;   b. #dp ghuh nghNutyh 

c. nrhPd; [hh;[;    d. hpj;jpfh uhkrhkp  
 

136. Match the following 
A. Chennai   1. Pump city 
B. Thoothukudi  2. Gateway of Tamilnadu 
C. Tirupur   3. Detroit of Asia 
D. Sivakasi   4. Knitting City 
E. Coimbatore  5. Little Japan 
 A B C D E 
a. 2 3 4 5 1 
b. 3 5 4 1 2 
c. 5 4 1 2 3 
d. 3 2 4 5 1 
nghUj;jf 
A. nrd;id   1. gk;g; efuk; 
B. J}j;Jf;Fb  2. jkpo;ehl;bd; EioT thapy; 
C. jpUg;g+h;   3. Mrpahtpd; nll;uha;l; 
D. rptfhrp   4. gpd;dyhil efuk; 
E. Nfhak;Gj;J}h;  5. Fl;b [g;ghd; 
 A B C D E 
a. 2 3 4 5 1 
b. 3 5 4 1 2 
c. 5 4 1 2 3 
d. 3 2 4 5 1 
 

137. Match the following 
A. 1921 1. Year of Small divide 
B. 1961 2. Year of Great divide 
C. 1951 3. Demographic Transition 
D. 2011 4. Year of Population explosion 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 3 2 1 4 
d. 4 1 3 2 
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nghUj;Jf 
A. 1921 1. rpW gphptpid Mz;L 

B. 1961 2. ngUk;gphptpid Mz;L 

C. 1951 3. kf;fs;njhif khWjy; 
D. 2011 4. kf;fs;njhif ntbg;G Mz;L 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 3 2 1 4 
d. 4 1 3 2 
 

138. During which Five Year Plan, New Economic Policy of India was introduced? 
a. Eleventh Five Year Plan b. Eighth Five Year Plan 
c. Tenth Five Year Plan  d. Ninth Five Year Plan 
ve;j Ie;jhz;L jpl;lj;jpd; NghJ ,e;jpahtpy; Gjpa nghUshjhu nfhs;if 
mwpKfg;gLj;jg;gl;lJ? 
a. 11tJ Ie;jhz;L jpl;lk; b. 8tJ Ie;jhz;L jpl;lk; 

c. 10tJ Ie;jhz;L jpl;lk; d. 9tJ Ie;jhz;L jpl;lk; 
 

139. Identify the incorrect match 
1. Plan Holiday  - 1966 to 1969 
2. Rolling Plan   - 1978 to 1979 
3. Annual Plan   - 1990 to 1993 
a. only 1 and 2 is incorrect b. only 1 and 3 is incorrect 
c. only 3 is incorrect  d. none of these 
jtwhd ,iziaf; fz;lwpf 
1. jpl;l tpLKiw  - 1966 Kjy; 1969 
2. Roy; jpl;lk;  - 1978 Kjy; 1979 
3. Mz;L jpl;lk;  - 1990 Kjy; 1993 
a. 1 kw;Wk; 2 jtW  b. 1 kw;Wk; 3 jtW 
c. 3 kl;Lk; jtW   d. ,it vJTkpy;iy 
 

140. The economic system where both private and public sectors coexists is 
a. Gloalistic Economy   b. Mixed Economy 
c. Capitalistic Economy   d. Socialistic Economy 
nghJ kw;Wk; jdpahh; Jiw ,uz;LNk ,ize;j nghUshjhu mikg;G vd;gJ 
a. cyfshtpa nghUshjhuk;  b. fyg;Gg; nghUshjhuk; 
c. Kjyhspj;Jt nghUshjhuk;  d. rkjh;k nghUshjhuk; 
 

141. The Google launched its Artificial Intelligence Research Lab Centre at 
a. Mumbai, Maharashtra  b. Chandigarh 
c. Bangalore, Karnataka  d. New Delhi 
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$Fs; jdJ nraw;if Ez;zwpT Muha;r;rp ikaj;ij vq;F mikj;Js;sJ? 
a. Kk;ig> kfhuh~;buk;  b. rz;bfh; 

c. ngq;f@h;> fh;ehlfk;  d. epa+ nly;yp 
 

142. Which neighbouring country of India unveiled South Asia‟s tallest tower? 
a. Pakistan  b.Srilanka  c. Nepal  d. Bangladesh 
njw;fhrpahtpd; kpf caukhd NfhGuj;ij nfhz;l ,e;jpahtpd; mz;il ehL vJ? 
a. ghfp];jhd; b. ,yq;if  c. Neghsk;  d. tq;fNjrk; 
 

143. The train rake to Pulathisi Express was manufactured under Make in India 
initiative. The Pulathisi Express belongs to which neighbouring country of India? 
a. Myanmar  b. Srilanka  c. Nepal  d. Bangladesh 
,e;jpahtpy; jahhpg;Nghk; jpl;lj;jpd; fPo; Gyjprp vf;];gpu]; uapy; ngl;bfs; 
jahhpf;fg;gl;lJ. Gyjprp vf;];gpu]; ve;j ,e;jpa mz;il ehl;ilr; Nrh;e;jJ? 
a. kpahd;kh;  b. ,yq;if  c. Neghsk;  d. tq;fNjrk; 
 

144. How much area will India restore by 2030, as declaration made in UN conference to 
combat desertification? 
a. 26 million hectares   b. 12 million hectares 
c. 42 million hectares   d. 31 million hectares 
ghiytdkhjiy vjph;j;J eilngw;w I.eh. khehl;by; mwptpf;fg;gl;l 2030f;Fs; 
,e;jpah vt;tsT gFjpia kPl;nlLf;Fk;? 
a. 26 kpy;ypad; n`f;Nlh;fs;  b. 12 kpy;ypad; n`f;Nlh;fs; 
c. 42 kpy;ypad; n`f;Nlh;fs;  d. 31 kpy;ypad; n`f;Nlh;fs; 
 

145. India‟s tallest air traffic control tower was inaugurated at 
a. Chhatrapati Shivaji International Airport, Mumbai 
b. Rajiv Gandhi International Airport, Hyderabad 
c. Kempagowda International Airport, Bengalore 
d. Indira Gandhi International Airport, New Delhi 
,e;jpahtpd; Kjy; tpkhdg;Nghf;Ftuj;J fl;Lg;ghl;Lf; NfhGuk; vq;F 
mikf;fg;gl;Ls;sJ? 
a. rj;jpugjp rpth[p rh;tNjr tpkhd epiyak;> Kk;ig 
b. uh[pt;fhe;jp rh;tNjr tpkhd epiyak;> i`juhghj; 
c. nfk;gnfslh rh;tNjr tpkhd epiyak;> ngq;f@U 
d. ,e;jpuh fhe;jp rh;tNjr tpkhd epiyak;> epa+ nly;yp 

 
146. The sales tax on a refrigerator at the rate of 9% is ` 1,170.  Find the actual sale price. 

a. `13,000  b. `12,500  c. `13,500   d. `11,700 
xU Fsph;rhjdg; ngl;bapd; kPJ 9% tpw;gid thp tPjk; tpw;gid thp  ` 1170 vdpy; 
mjd; mlf;f tpiy vd;d? 
a. `13,000  b. `12,500  c. `13,500   d. `11,700 

 
147. _____ = Marked Price – Discount.  

a. Cost Price   b. Selling Price  c. List Price    d. Market Price 



 

38 | Page PH: 24339436, 42867555, 9840226187 

 

________ = Fwpj;j tpiy – js;Sgb 

a. mlf;f tpiy  b. tpw;gidtpiy c. gl;bay;tpiy  d. re;ij tpiy 
 

148. A car which costs Rs. 3,50,000 depreciates by 10% every year.  What will be the 
worth of the car after three years? 
a. ` 2,55,150  b.` 2,50,000  c. ` 2,50,000  d. ` 2,75,000 
xU Nkhl;lhh; ,ae;jpuj;jpd; tpiy &.3>50>000.  ,jd; kjpg;G xt;nthU Mz;bYk; 
10% tPjk; Fiwfpd;wJ.  %d;W Mz;LfSf;Fg; gpd; mjd; kjpg;G vt;tsthf 
,Uf;Fk;? 
a. ` 2,55,150  b.` 2,50,000  c. ` 2,50,000  d. ` 2,75,000 

 
149. At what rate per annum will ` 640 amount to ` 774.40 in 2 years, interest being 

compounded annually? 
a. 10%  b. 12%   c. 8%   d. 14% 
` 640 MdJ ,uz;L Mz;Lfspy; $l;Ltl;b mbg;gilapy; ` 774.40 Mf khWfpwJ 
vdpy; Mz;L $l;L tl;b tPjk; fhz;f. (tl;b Mz;bw;F xU Kiw mrYld; 
NrUfpd;wJ) 
a. 10%  b. 12%   c. 8%   d. 14% 

 
150. A tap A can fill a drum in 10 minutes. A second tap B can fill in 20 minutes. A third 

tap C can empty in 15 minutes. If initially the drum is empty, find when it will be 
full if all taps are opened together? 
a. 15 minutes  b. 12 minutes c. 60 minutes d. 50 minutes 
A vd;w Foha; xU nghpa ghj;jpuj;ijj; jdpNa 10 epkplq;fspy; epug;Gk;. B vd;w 
Foha; mNj ghj;jpuj;ij jdpNa 20 epkplq;fspy; epug;Gk;. ePh; epug;gpAs;s 
mg;ghj;jpuj;ij C vd;w Foha; 15  epkplq;fspy; fhyp nra;Ak;. Muk;gj;jpy; ghj;jpuk; 
fhypahf ,Ue;J> ,k;%d;W Foha;fisAk; jpwe;jhy;> mg;ghj;jpuk; epuk;g vt;tsT 
NeukhFk;? 
a. 15 epkplq;fs;  b. 12 epkplq;fs; c. 60 epkplq;fs; d. 50 epkplq;fs; 
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REFERENCE HALL ACCESS TEST II – 2019 
GROUP I PRELIMINARY 

 

1 2 3 4 5 6 7 8 9 10 
C A B D D C B C B D 

11 12 13 14 15 16 17 18 19 20 

C D D B D D B D A C 

21 22 23 24 25 26 27 28 29 30 

A C C C B B D C D B 

31 32 33 34 35 36 37 38 39 40 

C A B D D A D D D A 

41 42 43 44 45 46 47 48 49 50 
C D B B C B D D B A 

51 52 53 54 55 56 57 58 59 60 

C A B D C A D C B D 

61 62 63 64 65 66 67 68 69 70 

C B C B C B A D C A 

71 72 73 74 75 76 77 78 79 80 

B A D B A A C A B A 

81 82 83 84 85 86 87 88 89 90 

A D B A C B A C B C 

91 92 93 94 95 96 97 98 99 100 

C A A A D B B B C C 

101 102 103 104 105 106 107 108 109 110 

D C C B D B A C B D 

111 112 113 114 115 116 117 118 119 120 

A D D D A D C C D C 

121 122 123 124 125 126 127 128 129 130 

A A B C C C C A C D 

131 132 133 134 135 136 137 138 139 140 

C D B B D D B B C B 

141 142 143 144 145 146 147 148 149 150 

C B B A D A B A A B 
 



 

40 | Page PH: 24339436, 42867555, 9840226187 

 

REFERENCE HALL ACCESS TEST II – 2019 
GROUP I PRELIMINARY 

 

1 2 3 4 5 6 7 8 9 10 
C A B D D C B C B D 

11 12 13 14 15 16 17 18 19 20 

C D D B D D B D A C 

21 22 23 24 25 26 27 28 29 30 

A C C C B B D C D B 

31 32 33 34 35 36 37 38 39 40 

C A B D D A D D D A 

41 42 43 44 45 46 47 48 49 50 
C D B B C B D D B A 

51 52 53 54 55 56 57 58 59 60 

C A B D C A D C B D 

61 62 63 64 65 66 67 68 69 70 

C B C B C B A D C A 

71 72 73 74 75 76 77 78 79 80 

B A D B A A C A B A 

81 82 83 84 85 86 87 88 89 90 

A D B A C B A C B C 

91 92 93 94 95 96 97 98 99 100 

C A A A D B B B C C 

101 102 103 104 105 106 107 108 109 110 

D C C B D B A C B D 

111 112 113 114 115 116 117 118 119 120 

A D D D A D C C D C 

121 122 123 124 125 126 127 128 129 130 

A A B C C C C A C D 

131 132 133 134 135 136 137 138 139 140 

C D B B D D B B C B 

141 142 143 144 145 146 147 148 149 150 

C B B A D A B A A B 
 


